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Semantics and Pragmatics 
 

Lecture 9 
 

 
 

Semantics: Practical Applications 
 
In our previous lectures, we discussed a number of topics related to semantics. 
We will cover topics related to pragmatics in the coming lectures. 
Before we move to pragmatics, however, we will look at a number of practical 
exercises that will help us apply our knowledge of the theoretical aspects we 
have been discussing so far in this course. 
 
• If you need more practice, you can find more of these exercises in your 
reference book Semantics: A Course Book. 

ػ١ٍّخ رطج١مبد: اٌّؼبٟٔ ػٍُ  
 

 عٛف ٚٔسٓ. اٌىٍّبد ِؼبٟٔ اٌّزؼٍمخ اٌّٛاض١غ ِٓ ػذدا ٔبلشٕب اٌغبثك، اٌّسبضشاد فٟ
.اٌمبدِخ اٌّسبضشاد فٟ اٌجشاغّبر١خ اٌّزؼٍمخ اٌّٛاض١غ رغطٟ  

 اٌؼ١ٍّخ اٌزّبس٠ٓ ِٓ ػذد ػٍٝ ٔظشح ٍٔمٟ عٛف رٌه، ِٚغ اٌجشاغّبر١خ، إٌٝ ٕٔزمً أْ لجً
 ززٝ ٔبلشٕب٘ب اٌزٟ إٌظش٠خ اٌدٛأت ِؼشفزٕب رطج١ك ػٍٝ رغبػذٔب أْ شأٔٙب ِٓ اٌزٟ
.اٌّمشس ٘زا فٟ ا٢ْ  

 
 فٟ اٌزذس٠جبد ٘زٖ ِٓ أوثش ردذ أْ ٠ّىٕه اٌّّبسعخ، ِٓ اٌّض٠ذ إٌٝ ثسبخخ وٕذ إرا •

.اٌّمشس وزبة: اٌّشخغ وزبثه اٌذلاٌخ ػٍُ  
 
 
Binary Antonymy 
 
To identify binary antonyms, we can test antonymous pairs by seeing if the 
negative of one term is the equivalent to (or entails) the other. Thus, “dead” and 
“alive” are binary antonyms because if something is not dead then it must be 
alive. Use this test to determine which of the following pairs in the exercise are 
binary antonyms. 

اٌّزضبد اٌثٕبئٟ  
 

antonymous أصٚاج اخزجبس ٠ّىٕٕب اٌثٕبئ١خ، اٌّزضبداد ٌزسذ٠ذ  ٔفٟ وبْ إرا سؤ٠خ خلاي ِٓ 
 ػٍٝ "ٚ" ١ِزخ "ٚ٘ىزا،. أخشٜ خٙخ ِٓ( ػٍٝ رٕطٛٞ اٌزٟ أٚ )٠ؼبدي ِب ٘ٛ ٚازذ ٌّصطٍر 

 ل١ذ ػٍٝ ٠ىْٛ أْ ثذ لا ثُ شٟء ٠ّذ ٌُ إرا لأٔٗ اٌثٕبئ١خ اٌّزضبداد ٟ٘" اٌس١بح ل١ذ
 اٌّزضبداد ِٓ ِّبسعخ فٟ اٌزب١ٌخ أصٚاج ِٓ أٞ ٌزسذ٠ذ الاخزجبس ٘زا اعزخذاَ. اٌس١بح

.اٌثٕبئ١خ  
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Exercise 1: Binary Antonymy 
 
Are the following pairs binary antonyms? 
 

1- chalk – cheese    Yes / No 

2- same – different    Yes / No 

3- copper – tin     Yes / No 

4- dead – alive     Yes / No 

5- married – unmarried             Yes / No 

6- love – hate     Yes / No 

 
 
Exercise 1: Answers 
 
(1)No, if something is not chalk, it is not necessarily cheese.  (2) Yes, if two 
things are the same, they are not different; and if they are not the same, they 
are different.  (3) No  
(4)  Yes  (5)  Yes  (6)  No, if you don’t love someone, you don’t necessarily 
hate him. 

 ش١ئ١ٓ إرا ٔؼُ،( 2. )اٌدجٓ ثبٌضشٚسح ١ٌظ فإٔٗ اٌطجبش١ش، غ١ش شٟء ٕ٘بن وبْ إرا لا،( 1)
لا( 3. )ِخزٍفخ فٟٙ ٔفغٙب، ٟ٘ ١ٌغذ وبٔذ ٚإرا ِخزٍفخ، ١ٌغذ فٟٙ ٔفغٙب، ٟ٘  

.ثبٌضشٚسح ٌٗ أوشٖ لا وٕذ ِب، شخصب رست لا وٕذ إرا لا،( 6 )ٔؼُ( 5 )ٔؼُ( 4)  
 
Converses 
 
We mentioned that if a word describes a relationship between two things (or 
people) and another word describes the same relationship when the two things 
(or people) are mentioned in the opposite order, then the two words are 
converses of each other. For example, “parent” and “child” are converses, 
because X is the parent of Y (one order) describes the same relationship as Y is 
the child of X (opposite order). 
 اٌزضبد

 اٌؼلالخ رصف أخشٜ ٚوٍّخ( إٌبط أٚ )ش١ئ١ٓ ث١ٓ اٌؼلالخ رصف وٍّخ وبْ إرا أٔٗ روشٔب
 ثؼضٙب ػٓ الأزبد٠ث ِٓ وٍّز١ٓ ثُ اٌؼىغٟ، ثبٌزشر١ت( شخص أٚ )أِش٠ٓ روش ػٕذ ٔفغٙب

X الأصً لأْ ٚرٌه زذ٠ث، ِٓ" اٌطفً "ٚ" الأَ "اٌّثبي، عج١ً ػٍٝ. اٌجؼض  Y  ٚاٌذ ٘ٛ 
Y ٔفظ اٌؼلالخ ٠صف( ٚازذ أِش) X اثٓ ٘ٛ  (.اٌؼىغٟ ثبٌزشر١ت )  

 
Exercise 2 (A): Converses 
 
Are the following pairs of expressions converses? 

1- below – above    Yes / No 

2- grandparent – grandchild            Yes / No 
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3- love – hate     Yes / No 

4- conceal – reveal    Yes / No 

5- greater than – less than   Yes / No 

6- own – belong to    Yes / No 

 
Exercise 2 (A): Answers 
 
(1)Yes, if X is below Y then Y is above X.  (2)  Yes  (3)  No  (4)  No  (5)  Yes 
(6)  Yes 
 
Exercise 2 (B): Converses 
 
Are the following pairs of expressions converses? 

1- If John bought a car from Fred, is it the case that Fred sold a car to John?  Yes / 

No 

2- Are buy and sell converses?    Yes / No 

3- Are borrow and lend converses?   Yes / No 

4- Are give and take converses?  (Careful!) Yes / No 

5- Are come and go converses?    Yes / No  

 
Exercise 2 (B): Answers 
 
 (1)Yes   (2) Yes   (3) Yes, if X borrows something from Y, Y lends that thing to 
X.  
(4)  No, if X takes something from Y, Y does not necessarily give that thing to X 
(for example, X might take it without Y’s permission), so give and take are not 
exact converses, although they almost meet the definition. 
(5)  No, if someone goes to the mountain, the mountain does not come to him.  
 
Gradable Antonyms 
 
We mentioned that a good test for gradability, i.e. having a value on some 
continuous scale, is to see whether a word can combine with “very”, or “very 
much”, or “how?”or “how much?” For example, “How tall is he?” is acceptable, 
but “How top is that shelf?” is not generally acceptable. Thus, “tall” is gradable, 
but “top” is not gradable.  
Try to apply this test to the following exercises. 
Gradable اٌّزضبداد   
 

ي خ١ذا اخزجبسا أْ روشٔب gradability  ِؼشفخ ٘ٛ ِغزّشا، ِم١بعب ثؼض فٟ ل١ّخ ٚخٛد أٞ ،
 ػٍٝ" وُ؟ "أٚ" و١ف؟ "أٚ ،"وج١ش زذ إٌٝ "أٚ" خذا "ِغ وٍّخ ث١ٓ اٌدّغ ٠ّىٓ وبْ إرا ِب

 ِمجٛي غ١ش أِش" اٌشف؟ أػٍٝ أْ ٘ٛ و١ف "ٌٚىٓ ِمجٛي،" ؟ طٌٛٗ و١ف "، اٌّثبي عج١ً
gradable ٘ٛ"  ط٠ًٛ "ٚ٘ىزا،. ػبَ ثشىً  .gradable ١ٌغذ" الأػٍٝ "ٌٚىٓ ،
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.اٌزب١ٌخ ٌزذس٠جبد الاخزجبس ٘زا رطج١ك ِسبٌٚخ  
 
Exercise 3: Gradable Antonyms 
 
Are the following pairs gradable antonyms? 

1- tall – short     Yes / No 

2- long – short     Yes / No 

3- clever – stupid    Yes / No 

4- top – bottom              Yes / No 

5- love – hate  (Careful!)           Yes / No 

Exercise 3: Answers 
 
(1) Yes  (2) Yes  (3) Yes  (4) No    
(5) Yes, we can say “How much do you love/hate something?” 
 
Exercise 4: Antonymy 
 
Classify the following pairs as binary antonyms (B), converses (C), or 
gradable antonyms (G). 

1- easy – difficult   B  / C / G 

2- good – bad    B  / C / G 

3- pass – fail    B / C / G 

4- husband – wife  B  / C / G 

5- parent – offspring  B  / C / G 

6- legal – illegal   B  / C / G 

 
Exercise 4: Answers 
 
1. G       2. G       3. B       4. C      5. C      6. B 
 
Homonymy and Polysemy 
 
In the case of homonymy, we have two words whose senses are far apart from 
each other and not obviously related to each other in any way. While in the case 
of polysemy, we have one word which has several very closely related senses 
(the different senses are related to each other in some way). 
Let us apply this to the following exercise. 
Homonymy اٌّؼبٟٔ ٚرؼذد   
 

homonymy زبٌخ فٟ  ِٓ ١ٌٚظ اٌجؼض ثؼضٙب ػٓ ثؼ١ذح  ِؼٕبِٙب اٌزٟ وٍّز١ٓ ٌذ٠ٕب ،
 رؼذد زبٌخ فٟ أٔٗ ز١ٓ فٟ. الأشىبي ِٓ شىً ثأٞ اٌجؼض ثؼضٙب ِغ اٌّزؼٍمخ اٌٛاضر

  اٌّؼبٟٔ رشرجظ )اٌصٍخ ٚث١ك  اٌّؼبٟٔ ِٓ اٌؼذ٠ذ ٌذ٠ٙب اٌزٟ ٚازذح وٍّخ ٌذ٠ٕب اٌّؼبٟٔ،
(.ثأخشٜ أٚ ثطش٠مخ اٌجؼض ٌجؼضٙب اٌّخزٍفخ  
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.اٌزبٌٟ اٌزّش٠ٓ ٘زا ٌزطج١ك دػٛٔب  
 
Exercise 5: Homonymy and Polysemy 
 
Decide whether the following words are examples of homonymy (H) or 
polysemy (P). 

 bark (of a dog vs. of a tree)    H / P 

 fork (in a road vs. instrument for eating)  H / P 

 tail (of a coat vs. of an animal)   H / P 

 steer (to guide vs. young bull)   H / P 

 lip (of a jug vs. of a person)    H / P 

( ٌشدشح ِمبثً ٌىٍت )إٌجبذ - 1 H / P 
( اٌطؼبَ ٌزٕبٚي أداح ِمبثً اٌطش٠ك فٟ )اٌطشق ِفزشق - 2 H / P 
( ز١ٛاْ ِمبثً ِؼطف ) اٌز٠ً - 3 H / P 
( اٌثٛس صغبس ِمبثً ٌزٛخ١ٗ )اٌزٛخ١ٗ - 4 H / P 
( شخص ِمبثً إثش٠ك ِٓ )اٌشفبٖ - 5 H / P 

 
Exercise 5: Answers 
 
(1)H, not obviously related to each other in any way   (2)  P, the two senses are 
related by the concept of branching out into different parts or pahs. (3)  P, the 
two senses have the concept of being located at the end of something. (4)    H, 
not obviously related to each other in any way  (5)   P, the two senses have the 
concept of being at the edge of an hollow opening. 

(1 ) H ( 2 )الأزٛاي ِٓ زبي ثأٞ اٌجؼض ٌجؼضٙب ػلالخ لا اٌٛاضر ِٓ ، P   اٌّؼبٟٔ رشرجظ ،
( 3. )اٌسٍمبد أٚ ِخزٍفخ أخضاء إٌٝ رزفشع ثّفَٙٛ ِٓ اث١ٕٓ P  وٛٔٙب ِفَٙٛ ّ٘ب  اٌّؼبٟٔ ،

( 4. )ِب ٌشٟء ٔٙب٠خ فٟ رمغ H  الأزٛاي ِٓ زبي ثأٞ اٌٛاضر ِٓ اٌجؼض ٌجؼضٙب ػلالخ لا ،
(5 ) P .خٛفبء فزسخ زبفخ ػٍٝ  ِفَٙٛ ٌذ٠ّٙب  اٌّؼٕٝ ،  

 
 
Semantic Fields & Collocation 
 
A semantic field contains a group of words which are related in their meaning. 
Collocation is a relationship between words that specifically or habitually go 
together. 
 
Exercise 1: Semantic Fields 
 
Identify the word that does not belong to the group and suggest a 
suitable semantic field for the group. 

1- banana, apple, orange, apricot, flower 

2- uncle, aunt, friend, grandmother, cousin 
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3- car, ship, plane, lake, boat 

4- honesty, reliability, generosity, truthfulness 

5- running, swimming, thinking, skating  

ٚاٌّدّٛػٗ اٌّؼبٟٔ  زمٛي  
.ِؼٕب٘ب فٟ رشرجظ اٌزٟ اٌىٍّبد ِٓ ِدّٛػخ ػٍٝ ٠سزٛٞ اٌّؼبٟٔ زمً  

.ِزلاصِبْ اٌزسذ٠ذ ٚخٗ ػٍٝ أٚ ػبدح اٌزٟ اٌىٍّبد ث١ٓ ػلالخ ٚخٛد ٘ٛ اٌزد١ّغ  
  اٌّؼبٟٔ زمٛي: 1 اٌزّش٠ٓ
.ٌٍّدّٛػخ إٌّبعت اٌّؼبٟٔ زمً ٚالزشاذ ِدّٛػخ إٌٝ رٕزّٟ لا اٌزٟ اٌىٍّخ رسذ٠ذ  

ٚص٘شح ٚاٌّشّش ٚاٌجشرمبي ٚاٌزفبذ اٌّٛص - 1  
ػُ اثٓ خذح، صذ٠ك، ػّخ، ػُ، - 2  
لبسة اٌجس١شح، طبئشح، أٚ عف١ٕخ أٚ ع١بسح - 3  
ٚاٌىشِٛالأِبٔخ ٚالاػزّبد٠خ، اٌصذق - 4  
ٚاٌزضٌح ٚاٌزفى١ش، ٚاٌغجبزخ، اٌدشٞ - 5  

 
Exercise 1: Answers 
 
(1) Semantic Field: “fruit”, the word “flower” is not part of this semantic field  
(2) Semantic Field: “relatives”, the word “friend” is not part of this semantic 
field.  (3) Semantic Field: “means of transportation”, the word “lake” is not part 
of this semantic field.  (4)  Semantic Field: virtues, all words belong to the field.  
(5) Semantic Field: “sports”, the word “thinking” is not part of this semantic 
field. 
 
Exercise 2: Collocation 
 
Decide whether the following pairs of words make a collocation. 

 have fun   Yes / No 

 get place    Yes / No  

 take place    Yes / No  

 problem solving   Yes / No  

 problem care             Yes / No  

 health care    Yes / No  

.اٌزد١ّغ رمذَ اٌزب١ٌخ اٌىٍّبد ِٓ أصٚاج وبٔذ إرا ِب لشس  
لا / ٔؼُ اٌّزؼخ - 1  
لا / ٔؼُ ِىبْ ػٍٝ اٌسصٛي - 2  
لا / ٔؼُ ردشٞ - 3  
لا / ٔؼُ اٌّشىلاد زً - 4  
لا / ٔؼُ اٌّشىٍخ سػب٠خ - 5  
لا / ٔؼُ اٌصس١خ اٌشػب٠خ - 6  

 
Exercise 2: Answers 
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(1)Yes    (2) No     (3) Yes   (4) Yes    (5) No    (6) Yes 
 
 
 

Semantics and Pragmatics 
Instructor: Abdulrahman A. Alsayed 

Prepared by: Abu Bakr 

Lecture 9 

Classify the following pairs by choosing the best classification: 

1. easy – difficult     

a. binary antonyms 

b. converses 

c. gradable antonyms 

2. good – bad 

a. binary antonyms 

b. converses 

c. gradable antonyms 

3. pass – fail 

a. binary antonyms 

b. converses 

c. gradable antonyms 

4. husband – wife 

a. binary antonyms 

b. converses 

c. gradable antonyms   

5. parent – offspring 

a. binary antonyms 

b. converses 
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c. gradable antonyms   

6. legal – illegal 

a. binary antonyms 

b. converses 

c. gradable antonyms 

7. present - absent 

a. binary antonyms 

b. converses 

c. gradable antonyms 

8. deep – shallow 

a. binary antonyms 

b. converses 

c. gradable antonyms 

9. above - below 

a. binary antonyms 

b. converses 

c. gradable antonyms 

10. clean – dirty 

a. binary antonyms 

b. converses 

c. gradable antonyms 

11. husband – wife 

a. binary antonyms 

b. converses 

c. gradable antonyms 
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12. early – late 

a. binary antonyms 

b. converses 

c. gradable antonyms 

 

13. The word (BARK) when used for a dog vs. for a tree is 
hyponym because: 

a. They are  not obviously related to each other in any way. 

b. They are obviously related to each other in any way. 

c. They give the sense of similar meaning. 

d. All false 

   

14. The word (FORK) when used for a road vs. for an 
instrument for eating is polysemy because: 

a. They are  not obviously related to each other in any way. 

b. They are obviously related to each other in any way. 

c. They give the sense of similar meaning. 

d. All false 

 

15. The word (TAIL) when used for a coat vs. for an animal is 
polysemy because: 

a. They are  not obviously related to each other in any way. 

b. They are obviously related to each other in any way. 

c. They give the sense of similar meaning. 

d. All false 

 

16. The word (STEER) when used to guide vs. for a young bull 
is hyponym because: 
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a. They are  not obviously related to each other in any way. 

b. They are obviously related to each other in any way. 

c. They give the sense of similar meaning. 

d. All false 
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